
~10N 1 (12 MARKS) Use a SEPARATE Sheet of Paper (2003 WR) 

(3.22+10.4)x5450 __ U-1/ ".(~
(a) Evaluate, correct to 3 Significant figures ~---"----- \ f '"'/.A( 

12.552 


S· l'f e1n(4x-2) - 4 ')
(b) Imp I y - ;K- '- J,..-. 

(c) Solve: 3(2X - 3) =4(x - 2) 

(d) Differentiate cos( x 2 ) 

(e) Write o.ioi as a fraction in it's simplest form. 

(f) Find f5x 4 
- 3x + 2 dx 

(g) The Backyard Force TV team is renovating a backyard to the plan shown below. Calculate the area of 
lawn in the backyard. (correct to 1 decimal place) 
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Question 1 (12 Marks) (2005 WR) Use a Separate Sheet of paper 	 Marks 

(a) 	 Factorise 


i) 16x 2 
- 9 


ii) 

(b) 	 Express 315 +.J20 in the form Fa. 

(c) 	 Simplify 2X2 Y - yx 2+ xy2 + 2y2 X 

lim 3x 2 -4x+ 5
(d) 	 Evaluate 

2x ~ 00 x 

(e) 	 Solve l = x -1 leaving your answer in exact form. 
x 

(f) 	 Express 0·42 as a rational number in simplest form. 

(g) 	 Express loge 5 as a decimal correct to 2 decimal places. 

Question 1 (12 Marks) (2006 WR) Use a Separate Sheet of paper 

. 
(a) 	 Express 4.23 as a fraction in simplest form. 

5$(b) 	 Express h h with a rational denominator. 
..;3 -...;2 

3n d' . d'(c) 	 Express - ra lans m degrees an mmutes. 
8 

(d) 	 Solve 12x - 31 ~ 4 

(e) 	 Find the primitive function of ~ 
4 x 

(f) 	 If tan S = '2 and cos S < 0, find the exact value of sin S. 
9 

3(g) 	 Solve 9 2x- =27 x 
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Question 1 (12 marks) (2007 WR) Begin a SEPARATE sheet of paper 

(a) 
e+lEvaluate --

Jr 
correct to three decimal places 2 

(b) 

(c) 

(d) 

(e) 

F
o de h d Of ° () 4sin 57"In to t e nearest egree 1 sm = --­

6·7 

What is the centre and radius of a circle with equation 

(x+2Y +(y-3Y =2025 

The mean of3, 5, 7, x is 6·75. What is the value ofx? 

If x 2·35 evaluate the expression 3 - 4xl 

2 

2 

2 

1 

(0 

(g) 

Factorise 3x 2 
- 5x - 2 

Express 2·12c as an angle in degrees correct to the nearest minute 

2 

1 

Question 1 (12 marks) (2008 WR) Use a SEPARATE sheet of paper or booklet. 

a) Evaluate (), -IJcorrect to 3 significant figures. 

b) Solve 12x - 41 ~ 2 

c) If ~ =a +bJ3 find the values ofa and b. 
2­ 3 

d) 

e) 

o 

Find the sum of the first ten terms ofthe series 41;2 + 3 + 11;2+ ... 

Factorise 2Z2 + 6zy + xz + 3xy 

Find the perpendicular distance from the point (1, 3) to the line 6x - 8y+ 5 = 0 



•• 

Question 1 (12 Marks) (2009 WR) Use a Separate Sheet of paper Marks 

(a) 

(b) 

(c) 

(d) 

Express 3 ' 5 3 1 as a fraction in simplest form, 

If tan e=2. and cos B < 0 , find the exact value of cosecB 
8 

E I 3.242 - 2.12 3 "fi fi 
va uate I correct to slgm lcant Igures. 

-v36+ 2.1 

Solve 115-4xl ~ 3 

2 

1 

1 

2 

(e) If k =!m(v2 _u 2 
) find the value of mwhen k = 724, v = 14·2 

3 
and u = 7·4. 

2 

(t) Find the period and amplitude for the graph of 3y =sin ( 2x ­ : ) . 2 

(g) Paint at the local hardware store is sold at a profit of 30% on the cost 
price. If a drum of paint is sold for $67'50, find the cost price. 

Question 1 (12 marks) (2005 Trialmath) 

2 

Marks 

(a) Evaluate ~ 2-1'2 
2tr 

correct to 4 significant figures. 2 

(b) Differentiate 3x 2 (4x -1) with respect to x. 2 

(c) Express o· i 8 as a fraction in simplest form. 
2 

(d) 
. x-I x 1

Solve the equatlOn -­ - - = - . 
2 3 2 

2 

(e) Expand and simplify (2J3 -1) 2 ­ 4(1- J3). 2 



Question 1 (12 marks) Use a SEPARATE pagel booklet. (2008 Trialmath) Marks 

2(a) Evaluate 2;r2 + 3e ,correct to one decimal places. 

(b) Find a primitive of 3x3 
- 4 2 

-1
(c) Solve cos () = J2 for 0::; () ::; 2;r 2 

(d) 2 

(e) Find the integers a and b such that IJ7 = a +bJ7 , where a and b are 
3- 7 

rational numbers. 2 

(f) Differentiate 2x + tan x with respect to x. 2 



Question 1 (12 marks) Use a SEPARATE pagel booklet. (2009 Trialmath) 	 Marks 

(a) Find the value of 15 -1.5. Write your answer to three decimal places. 2 


(b) Rationalise the denominator of 5	 2 

3- J77 


(c) 	 Write the exact value of sin 51r 2 

4 


(d) Find the value of loge e2 + loge 1 	 2 


(e) Find fsec 2 2x dx 	 2 


(f) Differentiate e2x 
- 5x with respect to x. 	 2 



